
[212]          Page 1 of 8                                                    

d q y i z ’u ksa d h l a[ ; k %  21 d q y i ` "B ksa d h l a[ ; k %  0 8 

Total No. of Questions: 21 Total No. of Pages: 08 

212 

f o "k ;  %f oKk uf o "k ;  %f oKk uf o "k ;  %f oKk uf o "k ;  %f oKk u     

Subject: SCIENCE 

l e;  %  03  ? k.Vs  i w.kkZ ad  %  07 5 

Time : 03 Hours  Maximum Marks: 075 

 

fu n sZ ’k% &  fu n sZ ’k% &  fu n sZ ’k% &  fu n sZ ’k% &      (i)    l Hkh  oLr q fu " B  i z ’u  vfu ok; Z  gS aAl Hkh  oLr q fu " B  i z ’u  vfu ok; Z  gS aAl Hkh  oLr q fu " B  i z ’u  vfu ok; Z  gS aAl Hkh  oLr q fu " B  i z ’u  vfu ok; Z  gS aA     
    (ii)    i z ’u &i z ’u &i z ’u &i z ’u & i = Hk kx ^d ^  i = Hk kx ^d ^  i = Hk kx ^d ^  i = Hk kx ^d ^  ,,,, oooo aa aa     ^[ k^ esa foHk kf^[ k^ esa foHk kf^[ k^ esa foHk kf^[ k^ esa foHk kf t r  gSt r  gSt r  gSt r  gS AAAA     
    (iii)        i z ’u  i z ’u  i z ’u  i z ’u  i =  d s H kk x  ^d ^  esa i zi =  d s H kk x  ^d ^  esa i zi =  d s H kk x  ^d ^  esa i zi =  d s H kk x  ^d ^  esa i z ---- ØØØØ ----     1  l s 21  l s 21  l s 21  l s 2 0000     r d  o Lr q fu"B  i z ’u  gSr d  o Lr q fu"B  i z ’u  gSr d  o Lr q fu"B  i z ’u  gSr d  o Lr q fu"B  i z ’u  gS aA  i z R; sd  i z ’u  d s f y,  1  aA  i z R; sd  i z ’u  d s f y,  1  aA  i z R; sd  i z ’u  d s f y,  1  aA  i z R; sd  i z ’u  d s f y,  1  

v ad  vkoav ad  vkoav ad  vkoav ad  vkoa fV r  gS AfV r  gS AfV r  gS AfV r  gS A     
    (iv)    i z ’u  i z ’u  i z ’u  i z ’u  i = d s Hkk x ^[ k^  d s vU r xZ r  i zi = d s Hkk x ^[ k^  d s vU r xZ r  i zi = d s Hkk x ^[ k^  d s vU r xZ r  i zi = d s Hkk x ^[ k^  d s vU r xZ r  i z ---- ØØØØ ----     5555     l s l s l s l s         i zi zi zi z ---- ØØØØ ----     12121212     r d  r d  r d  r d  i z R; sd  i z ’u  d s f y, 2  vadi z R; sd  i z ’u  d s f y, 2  vadi z R; sd  i z ’u  d s f y, 2  vadi z R; sd  i z ’u  d s f y, 2  vad     

fu / kkZ fj r  gS aA  'kCfu / kkZ fj r  gS aA  'kCfu / kkZ fj r  gS aA  'kCfu / kkZ fj r  gS aA  'kC n  l hek  3 0 'kC n  r d  gS An  l hek  3 0 'kC n  r d  gS An  l hek  3 0 'kC n  r d  gS An  l hek  3 0 'kC n  r d  gS A     
    (v)    i z ’u  i z ’u  i z ’u  i z ’u  ØØØØ ----     1 31 31 31 3     l s l s l s l s i z ’u  i z ’u  i z ’u  i z ’u  ØØØØ ----     1 9 r d  i z R; sd  i z ’u  d s f y, 4  fu / kkZ fj r  gS A 'kC n  l hek  7 5  'kC n  1 9 r d  i z R; sd  i z ’u  d s f y, 4  fu / kkZ fj r  gS A 'kC n  l hek  7 5  'kC n  1 9 r d  i z R; sd  i z ’u  d s f y, 4  fu / kkZ fj r  gS A 'kC n  l hek  7 5  'kC n  1 9 r d  i z R; sd  i z ’u  d s f y, 4  fu / kkZ fj r  gS A 'kC n  l hek  7 5  'kC n  

r d  gS Ar d  gS Ar d  gS Ar d  gS A     

 (vi)    i z ’u  Ø ai z ’u  Ø ai z ’u  Ø ai z ’u  Ø a ----     2 0  ds fy, 5  vad fu / kkZ fj r  gSaA  ' kC n  l hek 1 2 0  'kC n  r d  gS A2 0  ds fy, 5  vad fu / kkZ fj r  gSaA  ' kC n  l hek 1 2 0  'kC n  r d  gS A2 0  ds fy, 5  vad fu / kkZ fj r  gSaA  ' kC n  l hek 1 2 0  'kC n  r d  gS A2 0  ds fy, 5  vad fu / kkZ fj r  gSaA  ' kC n  l hek 1 2 0  'kC n  r d  gS A     
    (vii)    i z ’u  Ø ai z ’u  Ø ai z ’u  Ø ai z ’u  Ø a ----     2 1  ds fy, 6  vad fu / kkZ fj r  gSaA  ' kC n  l hek 1 5 0  'kC n  gS A2 1  ds fy, 6  vad fu / kkZ fj r  gSaA  ' kC n  l hek 1 5 0  'kC n  gS A2 1  ds fy, 6  vad fu / kkZ fj r  gSaA  ' kC n  l hek 1 5 0  'kC n  gS A2 1  ds fy, 6  vad fu / kkZ fj r  gSaA  ' kC n  l hek 1 5 0  'kC n  gS A     
 (viii)    t gk¡  vko ’; d  gks]  LoP N  , oa u k ekafd r  fp = cu kb,At gk¡  vko ’; d  gks]  LoP N  , oa u k ekafd r  fp = cu kb,At gk¡  vko ’; d  gks]  LoP N  , oa u k ekafd r  fp = cu kb,At gk¡  vko ’; d  gks]  LoP N  , oa u k ekafd r  fp = cu kb,A     
 (ix)    i z ’u  Ø ai z ’u  Ø ai z ’u  Ø ai z ’u  Ø a ----     5  l s i z ’u  Ø a5  l s i z ’u  Ø a5  l s i z ’u  Ø a5  l s i z ’u  Ø a ----     2 1  r d  vkar fj d  fod Yi fn , x,  gS aA2 1  r d  vkar fj d  fod Yi fn , x,  gS aA2 1  r d  vkar fj d  fod Yi fn , x,  gS aA2 1  r d  vkar fj d  fod Yi fn , x,  gS aA  

    

Note:- (i) All Objective type questions are compulsory. 

 (ii) Question paper is divided into two parts - part ‘A’ and part ‘B’. 

 (iii) In Question paper part A Q. No.1 to 20 is objective and carries 1 mark each. 

 (Iv) Part ‘B’ of question Q. No.5 to Q. No.12 each question carries 2 marks. Word limit 

for answer is 30 words.  

 (v) Q. No.13 to Q. No.19 carries 4 marks each. Word limit for answer is 75 words.  

 (vi) Q. No. 20 carry 5 marks. Word limit for answer is 120 words.  

 (vii) Q. No. 21 carry 6 marks. Word limit for answer is 150 words.  

 (viii) Draw neat and well labelled diagram wherever necessary.  

 (ix) In section B, Internal options are given in Q. No 5 to 21.   
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Hk kx &  dHk kx &  dHk kx &  dHk kx &  d     

PART - A 

l e;  %  30  feu V i w.kkZ ad  %  20 

Time  :  30 Min  Maximum Marks: 20 

    

i z -1  c gq f o d Yi h i z ’u %&                 ¼5¼5¼5¼5 ½½½½     

 (i) fc Ù k k ¾   

  ¼v ½  9  b ap  

  ¼c ½ 1 8  b ap 

  ¼ l ½ 1 2  b ap 

  ¼n ½ 1 5  b ap 

  Multiple choices Question:- 

  1Balisht = 

  (a) 9 inch 

  (b) 18 inch 

  (c) 12 inch 

  (d) 15 inch 

 (ii) , d  f} ij e k.k qd  v .k q  e sa i j e k.k q  g k srs g S a&   

  ¼v ½  1  

  ¼c ½ 2  

  ¼ l ½ 3  

  ¼n ½ 4  

  A diatomic molecule has number of atoms -  

  (a) 1 

  (b) 2 

  (c) 3 

  (d) 4 
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 (iii) xf r t  Å t k Z  d k lw=  g S &   

  ¼v ½  KE = ½ mv
2
 

  ¼c ½ KE = ½ mgh 

  ¼ l ½ KE = mgh 

  ¼n ½ KE = ma  
  Formula of kinetic Energy is - 

  (a) KE = ½ mv2 

  (b) KE = ½ mgh 

  (c) KE = mgh 

  (d) KE = ma 

 (iv) o r Z e ku  e sa l k S j &e.M y e sa  xz g  g S a&   

  ¼v ½  1  

  ¼c ½ 8  

  ¼ l ½ 9  

  ¼n ½ 5  

  At present total number of planets in Solar-Eclipse are - 

  (a) 1 

  (b) 8 

  (c) 9 

  (d) 5 

 (v)  m Ri kn d  d g ykr s g S a&   

  ¼v ½  l Hk h i k S /k s 

  ¼c ½ g j s i k S /k s 

  ¼ l ½ eu q " ; 

  ¼n ½ eu q " ; ,o a t U r q   

  Producers are called- 

  (a) All the plants  

  (b) Green plants 

  (c) Human being 

  (d) Human and animals.  
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i z -2 fj Dr  LFkku ksa d h i wfr Z  d fj , % &  ¼5 ½¼5 ½¼5 ½¼5 ½ 

 (i) o k" iu  d h xq I r  m " ek d k e k = d  --------------------------------- g S A  ¼J, J/K, J/kg½ 

 (ii) l e LF k kfu d ksa d s i j e k.k q  Ø e k ad ----------------------g k srs g S aA  ¼ l e ku &v yx&v yx½  

 (iii) f o Hk o kU rj  d k e k = d  ----------------------------g S A ¼ o ksYV @ , fEi; j ½ 

 (iv) i ; k Z oj .k e sa v o akfN r  i n kF k k sZ a d k s t k sM +u k-------------------------d g yk r k g S A  ¼feyk oV@ i zn w" k.k½ 

 (v) r i sfn d ------------------------ ds } k j k g ksr k g S A  ¼t h o k.kq @ fo " k k.k q½ 

 Fill in the blanks - 

 (i) Unit of latent heat of evaporation is ……… (J, J/K, J/kg) 

 (ii) Atomic numbers of Isotopes are ……………… (Same/different) 

 (iii) Unit of potential difference is …………….. (Volt/ ampere) 

 (iv) Addition of unwanted matter in environment is called …………… (Adulteration/ pollution) 

 (v) Tuberculosis is caused by ……………. (Bacteria/ virus) 

i z -3 l g h t k sfM +; k ¡  c ukb ,  & ¼5 ½¼5 ½¼5 ½¼5 ½     

  v      c 

 (i) cy     (a) / kwed sr q 

 (ii) l kS j  Å t kZ    (b) U ; wV u 

 (iii) gsyh      (c) e: n fHkn 

 (iv) u kxQu h    (d) u ohdj .kh;  Åt kZ  L=ksr 

 (v) Hkkj r h;  j k" V ªh;  mixz g”  (e) INSAT 

 

 Match the clumn ‘A’ with colcumn ‘B’ 

  ‘A’      ‘B’ 

 (i) Force     (a) Comet  

 (ii) Solar energy   (b) Newton 

 (iii) Haley     (c) Xerophytic 

 (iv) Opantia    (d) Renewable Source of Energy  

 (v) Indian National Satellite (e) INSAT 

   

 



[212]          Page 5 of 8                                                    

i z -4 , d  'kC n @o kD ; e sa m Ù k j n hft ,  %& ¼5 ½¼5 ½¼5 ½¼5 ½     

    (i) l c ls c M +s {k q n z  xz g  d k u ke fyf[ k, A 

 (ii) f o V kfeu  A d h d e h l s g k su s o kys j k sx  d k u ke fyf[ k, A 

 (iii) eu q " ; ds ân ; e sa fd r u s d {k g k sr s g S a\ 

 (iv) n s’k e sa  g f j r Ø kaf r  d k J s; fd l d ks t k r k g S \ 

 (v) v kn z Zr k e kiu s d s m i d j .k d k u ke fyf[ k, A 

 Answer in one word / sentence :- 

 (i) Write the name of biggest asteroid.  

 (ii) Write the name of disease caused due to deficiency of vitamin A.  

 (iii) How many chambers are there in human heart?  

 (iv) Credit goes to whom for green revolution in our country?  

 (v) Write the name of apparatus to measure humidity.  

 

Hk kx &  cHk kx &  cHk kx &  cHk kx &  c     

PART – B 

l e;  %  2 %30  ? k.Vs i w.kkZ ad  %  55 

Time  :  2:30 Hours Maximum Marks: 55 

 

i z -5 i z d k’k o" kZ  d ks ifj Hkkf" kr  dfj ,A  ¼2 ½¼2 ½¼2 ½¼2 ½ 

 Define a light year. 

v F k okv F k okv F k okv F k ok @@@@OR    

 ean kfd u h D; k gS \  

 What is Galaxy?  

i z -6 [ kkn ~ ;  t ky D; k gS \  ¼2 ½¼2 ½¼2 ½¼2 ½ 

 What is food web? 

v F k okv F k okv F k okv F k ok @@@@OR    

 vkWDl ht u  ds n ks mi; ksx f yf[ k,A  

 Write any two uses of oxygen.   
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i z -7 o` Dd  d s n ks d k; Z  fyf[ k,A  ¼2 ½¼2 ½¼2 ½¼2 ½ 

 Write two functions of kidney.  

v F k okv F k okv F k okv F k ok @@@@OR    

 d ksf’kd h;  'ol u  fdl s d gr s gS a\   

 What is called Cellular Respiration?   

i z -8 g e k j s 'k j h j  e sa i k,  t kus o kys i k ¡ p  lao sn h v axk sa  d s u ke  fyf[ k, A  ¼2 ½¼2 ½¼2 ½¼2 ½  

 Name the five sense organs present in our body.   

v F k okv F k okv F k okv F k ok @@@@OR    

 F k kb j kb M  xz afF k v k S j  v X u k’k; } k j k L= kf o r  g ksu s o kys g ke k sZ u k sa d s u ke fyf[ k, A   

 Write the name of hormones secreted by pancreas and thyroid gland.  

i z -9 l aØ ked  j ksx D; k gS a\  ,d  l aØ ked  j ksx d k u ke fyf[ k,A  ¼2 ½¼2 ½¼2 ½¼2 ½ 

 What are infectious diseases? Write name of one infectious disease.   

v F k okv F k okv F k okv F k ok @@@@OR    

 egkekj h D; k gS \  ,d  mn kgj .k n hft ,A  

 What is Epidemic? Give an example.   

i z -1 0 l keq n kf;d  LokLF;  fd l s d grs gS a\    ¼2 ½¼2 ½¼2 ½¼2 ½ 

 What is called community Health?    

v F k okv F k okv F k okv F k ok @@@@OR    

 fd Ug h a n k s c he kf j ; ksa d s u k e fyf[ k,  ft u ds c k j sa e sa  j k" Vª h; Lr j  ij  t kx# dr k Q S ykb Z  t kr h g S A 

 Write the name of two diseases about which national level is awareness spread?     

i z -1 1 m| ku  Ñ f" k D; k gS\  ¼2 ½¼2 ½¼2 ½¼2 ½ 

 What is Horticulture?    

v F k okv F k okv F k okv F k ok @@@@OR    

 i'kq i kyu  fd ls d gr s gS a\  

 What is called Animal Husbandry?    
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i z -1 2 fu Eu  e sa l s i z R; sd  d h , d  m é r  ; k l ad j  fd Le fyf[ k, & 

 /k ku  , oa xsg w¡ A    ¼2 ½¼2 ½¼2 ½¼2 ½  

 Write one hybrid variety of each of the following- 

 Rice and wheat    

v F k okv F k okv F k okv F k ok @@@@OR    

 [ k j ir o kj  d ks fd r u s o xk sZ a e sa c k ¡ V k x; k g S \ i z R; sd  d k u ke fyf[ k, A  

 In how many categories weed is classified? Write name of each.    

i z -1 3  S. I. i j  v k/k kf j r  e wy j kf’k; k sa d s  u ke]  e k = d  o  izr hd  fp Ug  fyf[ k,A    ¼4¼4¼4¼4 ½½½½  

 Write the symbols, units and names of original quantities based on S. I. units.     

v F k okv F k okv F k okv F k ok @@@@OR    

 i j kJO ;  / ofu  o voJO ;  /ofu  d h ifj Hkk" kk fyf[ k,A  

 Define ultrasonic sound and subsonic sound.  

i z -1 4 v u q iz LF k , o a v u q nS /; Z  rj axk sa e sa 2  v ar j  fyf[ k, A ¼4¼4¼4¼4 ½½½½  

 Write two differences between transverse and longitudinal waves.  

v F k okv F k okv F k okv F k ok @@@@OR    

 e wy r F k k O ; q Ri é e k = d  d h i f j Hk k" k k fyf[ k,  , oa i z R; sd  d k , d  m n kg j .k Hk h n hft , A 

 Write definition of fundamental and derived units and give one example of each.  

i z -1 5 i j e k.k q  ds e wy d .k k sa  d s u ke , oa m u  i j  m i f LF k r v k o s’k fyf[ k, A    ¼4¼4¼4¼4 ½½½½  

 Write the name of fundamental particles of an atom and charge present on them.   

v F k okv F k okv F k okv F k ok @@@@OR    

 e S M yhQ d k v k o r Z  fu ;e fyf[ k,  o  v k o r Z  l kfj .k h d s n k s e q [ ; n k s" k fyf[ k, A  

 Write the mendeleef’s periodic law and two draw backs of mendeleef’s periodic table.  

i z -1 6 fo| q r  la; kst h ; kS fxd ksa d s pkj  y{ k.k fyf[ k,A   ¼4¼4¼4¼4 ½½½½ 

 Write down the four characteristics of electrovalent compounds.  

v F k okv F k okv F k okv F k ok @@@@OR    

 l g l a; kst h ; kS fxd ksa d s pk j  y{ k.k fyf[ k,A 

 Write down the four characteristics of covalent compounds.  
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i z -1 7 U ; wV u  d h xfr  d k iz Fke fu ; e fyf[ k,A   ¼4¼4¼4¼4 ½½½½ 

 Write down the Newton’s first law of motion.  

v F k okv F k okv F k okv F k ok @@@@OR    

 ? k" kZ .k ds n ks ykHk , oa  n ks gk fu  fyf[ k,A 

 Write any two advantages and any two disadvantages of friction. 

i z -1 8 v k st k su  i j r  ds {k j .k d k s d S l s j k sd k t k l dr k g S\ ¼4¼4¼4¼4 ½½½½  

 How can we prevent the depletion of ozone layer?  

v F k okv F k okv F k okv F k ok @@@@OR    

 'kksj  i z n w" k.k ds i z Hkko fyf[ k ,A 

 Write the effects of noise–pollution.  

i z -1 9 e kn k t uu  ra=  d k u ke kfd ar  fp =  cu kb ,A ¼4¼4¼4¼4 ½½½½  

 Draw a labelled diagram of female reproductive system.    

v F k okv F k okv F k okv F k ok @@@@OR    

 eu q " ; e s f’k’k q  d k fyax  f u /k k Z j .k dS ls g k sr k g S \ d so y fp =  } k j k l e> kb , A 

 How can we determine the sex of a child in human? Explain with diagram only. 

i z -2 0 i z f ro r hZ  fØ ; k fd ls d g r s g S a\ l e> kb ,A ¼5¼5¼5¼5 ½½½½  

 What is called Reflex-action? Explain it.   

v F k okv F k okv F k okv F k ok @@@@OR    

 efLr " d  ds i kap d k; Z  fyf[ k,A 

 Write five functions of brain.   

i z -2 1 f o | qr  Å t k Z  ds m i ; k sx e sa  c j r h t ku s o kyh N % l ko /k kfu ; k¡  fyf[ k, A  ¼6¼6¼6¼6 ½½½½  
 Write down any six precautions while using electricity.   

v F k okv F k okv F k okv F k ok @@@@OR    

 j kl k; fud  Åt kZ  , oa u kfHkd h;  Åt kZ  d s c hp var j  fyf[ k,A 

 Write differences between chemical energy and nuclear energy.   

 

------------------- 

 


